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Pilot Study
Demographics (Dataset: Pilot study.dta; Type of Codes: STATA)
tabulate gender
sum age wexp
Results (Dataset: Pilot study.dta; Type of Codes: STATA)
csgof debate , expperc(50 50)
csgof disagree , expperc(50 50)
Results (Dataset: Pilot study_debate vs disagreement.dta; Type of Codes: STATA)
xtmelogit qn dedi || pid:
Study 1
Demographics and sample size in each condition (Dataset: Study 1 indi.dta; Type of Codes: STATA)
sum age
tabulate gender
tabulate Cond
Measures (Dataset: Study 1 indi.dta; Type of Codes: STATA)
alpha mc1_deb mc2_deb
alpha mc1_deci mc2_deci
alpha mc1_disa mc2_disa
sum mc_disa mc_deci mc_deb
alpha op1 op2 op3
alpha pa1 pa2 pa3 pa4
alpha na1 na2 na3 na4
alpha col1 col2 col3
Measures (Dataset: Study 1 perf ICC.sav; Type of Codes: SPSS)
DATASET ACTIVATE DataSet1.
RELIABILITY
  /VARIABLES=r1n_mean r2n_mean r3n_mean
  /SCALE('ALL VARIABLES') ALL
  /MODEL=ALPHA
  /ICC=MODEL(RANDOM) TYPE(CONSISTENCY) CIN=95 TESTVAL=0.
DATASET ACTIVATE DataSet1.
RELIABILITY
  /VARIABLES=r1p_mean r2p_mean r3p_mean
  /SCALE('ALL VARIABLES') ALL
  /MODEL=ALPHA
  /ICC=MODEL(RANDOM) TYPE(CONSISTENCY) CIN=95 TESTVAL=0.
Descriptive statistics and correlational analyses (Dataset: Study 1 dyad.dta; Type of Codes: STATA)
sum Cond_mean op_mean pa_mean na_mean col_mean pf_mean
pwcorr Cond_mean op_mean pa_mean na_mean col_mean pf_mean
pwcorr Cond_mean op_mean pa_mean na_mean col_mean pf_mean, sig
Manipulation checks (Dataset: Study 1 dyad.dta; Type of Codes: STATA)
regress mc_deb_mean d1_db_dis_mean d2_dec_dis_mean, beta
regress mc_deb_mean d1_db_dec_mean d2_dis_dec_mean, beta
regress mc_deci_mean d1_db_dis_mean d2_dec_dis_mean, beta
regress mc_deci_mean d1_db_dec_mean d2_dis_dec_mean, beta
regress mc_disa_mean d1_db_dis_mean d2_dec_dis_mean, beta
regress mc_disa_mean d1_db_dec_mean d2_dis_dec_mean, beta
tabstat mc_deb_mean mc_deci_mean mc_disa_mean if Cond_mean == 1, stats(mean semean)
tabstat mc_deb_mean mc_deci_mean mc_disa_mean if Cond_mean == 0, stats(mean semean)
tabstat mc_deb_mean mc_deci_mean mc_disa_mean if Cond_mean == -1, stats(mean semean)
Conditional differences (Dataset: Study 1 dyad.dta; Type of Codes: STATA)
regress col_mean d1_db_dis_mean d2_dec_dis_mean, beta
regress col_mean d1_db_dec_mean d2_dis_dec_mean, beta
regress op_mean d1_db_dis_mean d2_dec_dis_mean, beta
regress op_mean d1_db_dec_mean d2_dis_dec_mean, beta
regress pa_mean d1_db_dis_mean d2_dec_dis_mean, beta
regress pa_mean d1_db_dec_mean d2_dis_dec_mean, beta
regress na_mean d1_db_dis_mean d2_dec_dis_mean, beta
regress na_mean d1_db_dec_mean d2_dis_dec_mean, beta
regress pf_mean d1_db_dis_mean d2_dec_dis_mean, beta
regress pf_mean d1_db_dec_mean d2_dis_dec_mean, beta
tabstat col_mean op_mean pa_mean na_mean pf_mean if Cond_mean == 1, stats(mean semean)
tabstat col_mean op_mean pa_mean na_mean pf_mean if Cond_mean == 0, stats(mean semean)
tabstat col_mean op_mean pa_mean na_mean pf_mean if Cond_mean == -1, stats(mean semean)
Path Analysis (Dataset: Study 1 dyad.dta; Type of Codes: STATA)
sem ( z_pf_mean <- z_col_mean)( z_col_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_d1_db_dis_mean z_d2_dec_dis_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
est tab, p(%10.4g)
estat gof, stats(all)
estat teffects

program id1, rclass
sem ( z_pf_mean <- z_col_mean)( z_col_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_d1_db_dis_mean z_d2_dec_dis_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar OPC=_b[z_op_mean:z_d1_db_dis_mean]*_b[z_col_mean:z_op_mean]
end
bootstrap r(OPC), rep(5000): id1
estat bootstrap, all

program id2, rclass
sem ( z_pf_mean <- z_col_mean)( z_col_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_d1_db_dis_mean z_d2_dec_dis_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar PAC=_b[z_pa_mean:z_d1_db_dis_mean]*_b[z_col_mean:z_pa_mean]
end
bootstrap r(PAC), rep(5000): id2
estat bootstrap, all

program id3, rclass
sem ( z_pf_mean <- z_col_mean)( z_col_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_d1_db_dis_mean z_d2_dec_dis_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar NAC=_b[z_na_mean:z_d1_db_dis_mean]*_b[z_col_mean:z_na_mean]
end
bootstrap r(NAC), rep(5000): id3
estat bootstrap, all

program id4, rclass
sem ( z_pf_mean <- z_col_mean)( z_col_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_d1_db_dis_mean z_d2_dec_dis_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar OPP=_b[z_op_mean:z_d1_db_dis_mean]*_b[z_col_mean:z_op_mean] *_b[z_pf_mean: z_col_mean]
end
bootstrap r(OPP), rep(5000): id4
estat bootstrap, all

program id5, rclass
sem ( z_pf_mean <- z_col_mean)( z_col_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_d1_db_dis_mean z_d2_dec_dis_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar PAP=_b[z_pa_mean:z_d1_db_dis_mean]*_b[z_col_mean:z_pa_mean]*_b[z_pf_mean: z_col_mean]
end
bootstrap r(PAP), rep(5000): id5
estat bootstrap, all

program id6, rclass
sem ( z_pf_mean <- z_col_mean)( z_col_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_d1_db_dis_mean z_d2_dec_dis_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar NAP=_b[z_na_mean:z_d1_db_dis_mean]*_b[z_col_mean:z_na_mean]*_b[z_pf_mean: z_col_mean]
end
bootstrap r(NAP), rep(5000): id6
estat bootstrap, all



Study 2
Demographics (Dataset: Study 2 indi.dta; Type of Codes: STATA)
tabulate gender if complete == 1
sum age tenu if complete == 1
Measures (Dataset: Study 2 indi.dta; Type of Codes: STATA)
alpha tb_1 tb_2 tb_3 tb_4 tb_5 
alpha td_1 td_2 td_3 td_4
alpha op_1 op_2 op_3
alpha pa_1 pa_2 pa_3 pa_4
alpha na_1 na_2 na_3 na_4 
alpha col_1 col_2 col_3
alpha wpa_1 wpa_2 wpa_3 wpa_4 
alpha wna_1 wna_2 wna_3 wna_4 
alpha tdep_1 tdep_2 tdep_3 tdep_4 tdep_5 tdep_6 
alpha rc_1 rc_2 rc_3 
Differentiation among measures (Dataset: cfa.dat; Type of Codes: Mplus)
TITLE: 10 F
DATA: FILE IS cfa.dat;
VARIABLE:	NAMES ARE y1-y40;
USEVARIABLES ARE y1-y40;
MODEL:	f1 BY y1-y4;
	f2 BY y5-y8;
	f3 BY y9-y14;
    	f4 BY y15-y17;
        	f5 BY y18-y22;
            	f6 BY y23-y26;
                f7 BY y27-y29;
            	f8 BY y30-y33;
                	f9 BY y34-y37;
                    	f10 BY y38-y40;

TITLE: 9 F
DATA: FILE IS cfa.dat;
VARIABLE:	NAMES ARE y1-y40;
USEVARIABLES ARE y1-y40;
MODEL:	f1 BY y1-y4;
	f2 BY y5-y8;
	f3 BY y9-y14;
    	f4 BY y15-y17;
        	f5 BY y18-y22;
            	f6 BY y23-y26;
                f7 BY y27-y29;
            	f8 BY y30-y33;
                	f9 BY y34-y40;
TITLE: 8 F
DATA: FILE IS cfa.dat;
VARIABLE:	NAMES ARE y1-y40;
USEVARIABLES ARE y1-y40;
MODEL:	f1 BY y1-y4;
	f2 BY y5-y8;
	f3 BY y9-y14;
    	f4 BY y15-y17;
        	f5 BY y18-y22;
            	f6 BY y23-y26;
                f7 BY y27-y29;
            	f8 BY y30-y40;
TITLE: 7 F
DATA: FILE IS cfa.dat;
VARIABLE:	NAMES ARE y1-y40;
USEVARIABLES ARE y1-y40;
MODEL:	f1 BY y1-y4;
	f2 BY y5-y8;
	f3 BY y9-y14;
    	f4 BY y15-y17;
        	f5 BY y18-y22;
            	f6 BY y23-y26;
                f7 BY y27-y40;
TITLE: 6 F
DATA: FILE IS cfa.dat;
VARIABLE:	NAMES ARE y1-y40;
USEVARIABLES ARE y1-y40;
MODEL:	f1 BY y1-y4;
	f2 BY y5-y8;
	f3 BY y9-y14;
    	f4 BY y15-y17;
        	f5 BY y18-y22;
            	f6 BY y23-y40;
TITLE: 5 F
DATA: FILE IS cfa.dat;
VARIABLE:	NAMES ARE y1-y40;
USEVARIABLES ARE y1-y40;
MODEL:	f1 BY y1-y4;
	f2 BY y5-y8;
	f3 BY y9-y14;
    	f4 BY y15-y17;
        	f5 BY y18-y40;
TITLE: 4 F
DATA: FILE IS cfa.dat;
VARIABLE:	NAMES ARE y1-y40;
USEVARIABLES ARE y1-y40;
MODEL:	f1 BY y1-y4;
	f2 BY y5-y8;
	f3 BY y9-y14;
    	f4 BY y15-y40;
TITLE: 3 F
DATA: FILE IS cfa.dat;
VARIABLE:	NAMES ARE y1-y40;
USEVARIABLES ARE y1-y40;
MODEL:	f1 BY y1-y4;
	f2 BY y5-y8;
	f3 BY y9-y40;
TITLE: 2 F
DATA: FILE IS cfa.dat;
VARIABLE:	NAMES ARE y1-y40;
USEVARIABLES ARE y1-y40;
MODEL:	f1 BY y1-y4;
	f2 BY y5-y40;
TITLE: 1 F
DATA: FILE IS cfa.dat;
VARIABLE:	NAMES ARE y1-y40;
USEVARIABLES ARE y1-y40;
MODEL:	f1 BY y1-y40;
Note: Chi-square difference scores were calculated using the calculation function in Excel (Version 2204) and p-values associated with the chi-square difference scores were obtained using the link (https://www.socscistatistics.com/pvalues/chidistribution.aspx).
Descriptive statistics and correlational analyses (Dataset: Study 2 indi.dta; Type of Codes: STATA)
sum wpa wna tdep rc tb td op pa na col
pwcorr wpa wna tdep rc tb td op pa na col
pwcorr wpa wna tdep rc tb td op pa na col, sig
Debate and Disagreement as Predictors (Dataset: Study 2 indi.dta; Type of Codes: STATA)
regress col wpa wna tdep rc tb td, beta
est tab, p(%10.4g)
regress op wpa wna tdep rc tb td, beta
est tab, p(%10.4g)
regress pa wpa wna tdep rc tb td, beta
regress na wpa wna tdep rc tb td, beta
est tab, p(%10.4g)
Note: z-scores were calculated using the calculation function in Excel (Version 2204) and p-values associated with the z-scores were obtained using the link (https://www.socscistatistics.com/pvalues/normaldistribution.aspx).
Path Analysis (Dataset: Study 2 indi.dta; Type of Codes: STATA)
sem ( z_col <- z_op z_pa z_na z_wpa z_wna z_tdep z_rc)( z_op z_pa z_na <- z_tb z_td z_wpa z_wna z_tdep z_rc), nocapslatent cov( e.z_pa*e.z_na e.z_na*e.z_op e.z_pa*e.z_op)
est tab, p(%10.4g)
estat gof, stats(all)

program id1, rclass
sem ( z_col <- z_op z_pa z_na z_wpa z_wna z_tdep z_rc)( z_op z_pa z_na <- z_tb z_td z_wpa z_wna z_tdep z_rc), nocapslatent cov( e.z_pa*e.z_na e.z_na*e.z_op e.z_pa*e.z_op)
return scalar DBOP=_b[z_op: z_tb]*_b[z_col:z_op]
end
bootstrap r(DBOP), rep(5000): id1
estat bootstrap, all

program id2, rclass
sem ( z_col <- z_op z_pa z_na z_wpa z_wna z_tdep z_rc)( z_op z_pa z_na <- z_tb z_td z_wpa z_wna z_tdep z_rc), nocapslatent cov( e.z_pa*e.z_na e.z_na*e.z_op e.z_pa*e.z_op)
return scalar DSOP=_b[z_op: z_td]*_b[z_col:z_op]
end
bootstrap r(DSOP), rep(5000): id2
estat bootstrap, all

program id3, rclass
sem ( z_col <- z_op z_pa z_na z_wpa z_wna z_tdep z_rc)( z_op z_pa z_na <- z_tb z_td z_wpa z_wna z_tdep z_rc), nocapslatent cov( e.z_pa*e.z_na e.z_na*e.z_op e.z_pa*e.z_op)
return scalar DBPA=_b[z_pa: z_tb]*_b[z_col:z_pa]
end
bootstrap r(DBPA), rep(5000): id3
estat bootstrap, all

program id4, rclass
sem ( z_col <- z_op z_pa z_na z_wpa z_wna z_tdep z_rc)( z_op z_pa z_na <- z_tb z_td z_wpa z_wna z_tdep z_rc), nocapslatent cov( e.z_pa*e.z_na e.z_na*e.z_op e.z_pa*e.z_op)
return scalar DSPA=_b[z_pa: z_td]*_b[z_col:z_pa]
end
bootstrap r(DSPA), rep(5000): id4
estat bootstrap, all

program id5, rclass
sem ( z_col <- z_op z_pa z_na z_wpa z_wna z_tdep z_rc)( z_op z_pa z_na <- z_tb z_td z_wpa z_wna z_tdep z_rc), nocapslatent cov( e.z_pa*e.z_na e.z_na*e.z_op e.z_pa*e.z_op)
return scalar DBNA=_b[z_na: z_tb]*_b[z_col:z_na]
end
bootstrap r(DBNA), rep(5000): id5
estat bootstrap, all

program id6, rclass
sem ( z_col <- z_op z_pa z_na z_wpa z_wna z_tdep z_rc)( z_op z_pa z_na <- z_tb z_td z_wpa z_wna z_tdep z_rc), nocapslatent cov( e.z_pa*e.z_na e.z_na*e.z_op e.z_pa*e.z_op)
return scalar DSNA=_b[z_na: z_td]*_b[z_col:z_na]
end
bootstrap r(DSNA), rep(5000): id6
estat bootstrap, all
Note: z-scores were calculated using the calculation function in Excel (Version 2204) and p-values associated with the z-scores were obtained using the link (https://www.socscistatistics.com/pvalues/normaldistribution.aspx).

Data Screening (Dataset: Study 2 indi.dta; Type of Codes: STATA)
oneway gender complete
oneway age complete
oneway tenu complete



Study 3
Demographics and sample size in each condition (Dataset: Study 3 indi.dta; Type of Codes: STATA)
sum age 
tabulate gender
tabulate cond
Measures (Dataset: Study 3 indi.dta; Type of Codes: STATA)
alpha op_1 op_2 op_3 
alpha pa_1 pa_2 pa_3 pa_4 
alpha na_1 na_2 na_3 na_4
Measures (Dataset: Study 3 dyad.sav; Type of Codes: SPSS)
DATASET ACTIVATE DataSet1.
RELIABILITY
  /VARIABLES=mcr1_mean mcr2_mean
  /SCALE('ALL VARIABLES') ALL
  /MODEL=ALPHA
  /ICC=MODEL(RANDOM) TYPE(CONSISTENCY) CIN=95 TESTVAL=0.
RELIABILITY
  /VARIABLES=icr1_mean icr2_mean
  /SCALE('ALL VARIABLES') ALL
  /MODEL=ALPHA
  /ICC=MODEL(RANDOM) TYPE(CONSISTENCY) CIN=95 TESTVAL=0.
RELIABILITY
  /VARIABLES=dbr1_mean dbr2_mean
  /SCALE('ALL VARIABLES') ALL
  /MODEL=ALPHA
  /ICC=MODEL(RANDOM) TYPE(CONSISTENCY) CIN=95 TESTVAL=0.
RELIABILITY
  /VARIABLES=dsr1_mean dsr2_mean
  /SCALE('ALL VARIABLES') ALL
  /MODEL=ALPHA
  /ICC=MODEL(RANDOM) TYPE(CONSISTENCY) CIN=95 TESTVAL=0.
RELIABILITY
  /VARIABLES= nr1 nr2
  /SCALE('ALL VARIABLES') ALL
  /MODEL=ALPHA
  /ICC=MODEL(RANDOM) TYPE(CONSISTENCY) CIN=95 TESTVAL=0.
RELIABILITY
  /VARIABLES= pr1 pr2
  /SCALE('ALL VARIABLES') ALL
  /MODEL=ALPHA
  /ICC=MODEL(RANDOM) TYPE(CONSISTENCY) CIN=95 TESTVAL=0.
Measures (Dataset: Study 3 indi.sav; Type of Codes: SPSS)
DATASET ACTIVATE DataSet1.
RELIABILITY
  /VARIABLES= colr1 colr2
  /SCALE('ALL VARIABLES') ALL
  /MODEL=ALPHA
  /ICC=MODEL(RANDOM) TYPE(CONSISTENCY) CIN=95 TESTVAL=0.
Effectiveness of manipulations (Dataset: Study 3 dyad.dta; Type of Codes: STATA)
regress mcr_mean mc_cd_mean ic_cd_mean, beta
regress icr_mean mc_cd_mean ic_cd_mean, beta
regress dbr_mean mc_cd_mean ic_cd_mean, beta
regress dsr_mean mc_cd_mean ic_cd_mean, beta
est tab, p(%10.4g)
regress mcr_mean i.mc_cd_mean##i.ic_cd_mean, beta
regress icr_mean i.mc_cd_mean##i.ic_cd_mean, beta
regress dbr_mean i.mc_cd_mean##i.ic_cd_mean, beta
regress dsr_mean i.mc_cd_mean##i.ic_cd_mean, beta
tabstat mcr_mean dbr_mean if mc_cd_mean == 1, stats(mean semean)
tabstat mcr_mean dbr_mean if mc_cd_mean == 0, stats(mean semean)
tabstat icr_mean dsr_mean if ic_cd_mean == 1, stats(mean semean)
tabstat icr_mean dsr_mean if ic_cd_mean == 0, stats(mean semean)

Interaction effects (Dataset: Study 3 dyad.dta; Type of Codes: STATA)
regress colr_mean i.mc_cd_mean##i.ic_cd_mean, beta
regress op_mean i.mc_cd_mean##i.ic_cd_mean, beta
regress pa_mean i.mc_cd_mean##i.ic_cd_mean, beta
regress na_mean i.mc_cd_mean##i.ic_cd_mean, beta
regress perf_mean i.mc_cd_mean##i.ic_cd_mean, beta
Descriptive statistics and correlational analyses (Dataset: Study 3 dyad.dta; Type of Codes: STATA)
sum mc_cd_mean ic_cd_mean op_mean pa_mean na_mean colr_mean perf_mean
pwcorr mc_cd_mean ic_cd_mean op_mean pa_mean na_mean colr_mean perf_mean
pwcorr mc_cd_mean ic_cd_mean op_mean pa_mean na_mean colr_mean perf_mean, sig
Conditional differences (Dataset: Study 3 dyad.dta; Type of Codes: STATA)
regress colr_mean mc_cd_mean ic_cd_mean, beta
est tab, p(%10.4g)
regress op_mean mc_cd_mean ic_cd_mean, beta
est tab, p(%10.4g)
regress pa_mean mc_cd_mean ic_cd_mean, beta
regress na_mean mc_cd_mean ic_cd_mean, beta
regress perf_mean mc_cd_mean ic_cd_mean, beta
tabstat colr_mean op_mean pa_mean na_mean perf_mean if mc_cd_mean == 1, stats(mean semean)
tabstat colr_mean op_mean pa_mean na_mean perf_mean if mc_cd_mean == 0, stats(mean semean)
tabstat colr_mean op_mean pa_mean na_mean perf_mean if ic_cd_mean == 1, stats(mean semean)
tabstat colr_mean op_mean pa_mean na_mean perf_mean if ic_cd_mean == 0, stats(mean semean)
Note: z-scores were calculated using the calculation function in Excel (Version 2204) and p-values associated with the z-scores were obtained using the link (https://www.socscistatistics.com/pvalues/normaldistribution.aspx).
Path Analysis (Dataset: Study 3 dyad.dta; Type of Codes: STATA)
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
est tab, p(%10.4g)
estat gof, stats(all)
program id1, rclass
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar MOP=_b[z_op_mean: z_mc_cd_mean]*_b[z_colr_mean: z_op_mean]
end
bootstrap r(MOP), rep(5000): id1
estat bootstrap, all

program id2, rclass
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar IOP=_b[z_op_mean: z_ic_cd_mean]*_b[z_colr_mean: z_op_mean]
end
bootstrap r(IOP), rep(5000): id2
estat bootstrap, all

program id3, rclass
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar MPA= _b[z_pa_mean: z_mc_cd_mean]*_b[z_colr_mean: z_pa_mean]
end
bootstrap r(MPA), rep(5000): id3
estat bootstrap, all

program id4, rclass
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar IPA= _b[z_pa_mean: z_ic_cd_mean]*_b[z_colr_mean: z_pa_mean]
end
bootstrap r(IPA), rep(5000): id4
estat bootstrap, all


program id5, rclass
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar MNA=_b[z_na_mean: z_mc_cd_mean]*_b[z_colr_mean: z_na_mean]
end
bootstrap r(MNA), rep(5000): id5
estat bootstrap, all

program id6, rclass
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar INAP=_b[z_na_mean: z_ic_cd_mean]*_b[z_colr_mean: z_na_mean]
end
bootstrap r(INAP), rep(5000): id6
estat bootstrap, all

program id7, rclass
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar MOPP=_b[z_op_mean: z_mc_cd_mean]*_b[z_colr_mean: z_op_mean]*_b[z_perf_mean: z_colr_mean]
end
bootstrap r(MOPP), rep(5000): id7
estat bootstrap, all

program id8, rclass
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar IOPP=_b[z_op_mean: z_ic_cd_mean]*_b[z_colr_mean: z_op_mean] *_b[z_perf_mean: z_colr_mean]
end
bootstrap r(IOPP), rep(5000): id8
estat bootstrap, all

program id9, rclass
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar MPAP= _b[z_pa_mean: z_mc_cd_mean]*_b[z_colr_mean: z_pa_mean] *_b[z_perf_mean: z_colr_mean]
end
bootstrap r(MPAP), rep(5000): id9
estat bootstrap, all

program id10, rclass
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar IPAP= _b[z_pa_mean: z_ic_cd_mean]*_b[z_colr_mean: z_pa_mean] *_b[z_perf_mean: z_colr_mean]
end
bootstrap r(IPAP), rep(5000): id10
estat bootstrap, all

program id11, rclass
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar MNAP=_b[z_na_mean: z_mc_cd_mean]*_b[z_colr_mean: z_na_mean] *_b[z_perf_mean: z_colr_mean]
end
bootstrap r(MNAP), rep(5000): id11
estat bootstrap, all

program id12, rclass
sem ( z_perf_mean <- z_colr_mean)( z_colr_mean <- z_op_mean z_pa_mean z_na_mean)( z_op_mean z_pa_mean z_na_mean <- z_mc_cd_mean z_ic_cd_mean), nocapslatent cov( e.z_pa_mean*e.z_na_mean e.z_na_mean*e.z_op_mean e.z_pa_mean*e.z_op_mean)
return scalar INAP=_b[z_na_mean: z_ic_cd_mean]*_b[z_colr_mean: z_na_mean] *_b[z_perf_mean: z_colr_mean]
end
bootstrap r(INAP), rep(5000): id12
estat bootstrap, all
Note: z-scores were calculated using the calculation function in Excel (Version 2204) and p-values associated with the z-scores were obtained using the link (https://www.socscistatistics.com/pvalues/normaldistribution.aspx).
